## Project BTS-Baikunthapur Tarun Sangha

Proposal for a One time need

**Steward: Pragya Anand** 

## BTS background

- Was founded in 1983 at the Kultali island, Calcutta. The project is in the Sunderbans
- The Patha Bhavan school supports destitute children throughout the area who are unable to attend the government school.
- The children spend their time in school during the morning and extracurricular activities in the afternoon.
- Basic Education with vocational training through Joyful Learning Process
- BTS encourages increased female enrollment in school and provides a fundamentally strong education for the children who go there.
- Total 289 Children graduated from BTS-PathBhavan

## Partnership with Asha-San Francisco

- Asha Cornell has been funding BTS for roughly 10 years.
  Though BTS has other health and women's empowerment initiatives
- In my conversations with Susanta Da, his passion to help these children and continue providing education for the next generation is evident.
- He and the rest of the members at BTS are constantly looking for new ways to improve the school and teaching.



The Proposal







• Rooftop Water-Levelling & Ceiling repairing work (2500 sqft): . This budget amounts to ~ USD 3800. My recommendation would be to approve it in its entirety.

## The Proposal -contd

Item	Amount
Contingencies	9,750
Civil Engineer's Supervision costs	25,000
Foods/Tiffin(Establishment Charges of Labours	7,500.00
Cement 100 Bag x 450/Bag	45,000.00
Sand350 Bag x 100/Bag	35,000
Stone/Stone-chips 250 Bag x 135/Bag	33,750
Labour Wage(Skilled) 20 x 450/Day	9,000
Labour Wage(Unskilled) 35 x 350/Day7	12,250.00
Labour Wage for Chipping of rooftop 20 x 400	8,000.00
Material Carring Cost	9,750
Total(INR)	195,000